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Read the following Passage and answer (76 to 80) the questions selecting the most
appropriate options :

After that, | called Information please for everything. | asked for help with my
Geography and she told me where Philadelphia was. She helped me with my Arith-
metic, she also told me that a pet squirrel-l had caught, would eat fruits and nuts. And
there was the time that Petey, our pet canary, died. | called /Information Please and
told her the sad story. She listened, then said things that grown-ups say to soothe a

heap of feathers, on the bottom of a cage ? She must have felt my sorrow, for she

quietly said, “Paul, always remember that there are other worlds to sing in.” Some-
how, | felt better,

Paul called............. for everything. (fill the gap)
Ans. : Information Please

Why was Paul sad ?

Ans. : His pet canary died

‘Become a heap of feathers’ means....
Ans. : die

Which word in the passage means ‘sadness’ ?
Ans. : sorrow

For which of the following did Pau] call Information Please ?
Ans.: to find Philadelphia
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et T O SO B Ay,
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........................... M.B.B.S. doctor for a lecture.
Ans. : ﬂn

Unles§ Youruntast, ... .. |
Ans. : You can not catch the bus

Smita\has pinedthe school ................... three years.

The teacher distributed thechogolates ..................... . the students of the class.
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